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Finden Sie die Prozente

89 x

86 x

40 x

86 x

51 %

43 x

59 x

41 x

% = 40.8

% = 26.7

% = 8.6

% = 8

% = 60.2

% =153

% = 25.8

% = 11.8

% = 3.6

% = 28.7

75 X

28 x

75 %

19 x

40 x
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Datum:

% = 67.5

% = 16.8

% =15

% =15.2

% = 28

% =354

% =264

% =119

% = 0.8

%= 14
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Finden Sie die Prozente

Name:

68 x 60% = 40.8

89 x 30% = 26.7

86 x 10% = 8.6

40 x20% = 8

86 x 70% = 60.2

51 x30% = 15.3

43 x 60% = 25.8

59 x20% = 11.8

4 x90% = 3.6

41 x70% = 28.7

Datum:

75 x90% = 67.5

28 x 60% = 16.8

75 x20% = 15

19 x 80% = 15.2

40 x 70% = 28

9x60% =54

66 x 40% = 26.4

17 x70% = 11.9

2x40%=0.8

28 x 50% = 14
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Ergebnis:
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